Exercices de factorisation

a(x) =-3x+6 Parcours 1 Parcours 5
b(x) = =5z — 10 A= 2z +1)Bx+5)+ @z +2)2z+1) As =922 — 16 + (32 + 4)(3z — 2)
Bi=(z—-2)(x+3)+(z—2)(4x—1) Bs=(4z—1)?> - (z—-5)?
clx) =Tx —21 Cy = (bx — 3)(2x — 5) — x(bx — 3) Cs = (T —5)(3z+2)—6(3x+2)(x+3)
Dy =(x+1)(x+3)—5(x+3) Ds =2z +3)(2x — 1) + 422 + 122+ 9
d(z) = 3ab — 5a%c — 7ab Ei=(x+4)(x—-2)+Br+1)(z+4) Es=(z+4)(—2z+1)—3(x+4)>
Fi=@-3)2z+1)+2z+1)Bx—-2) Fs=22-9-2z+5)(z—3)+5z—15
e(x) = Tabc — 8bc + 21abe Gi =Bz +2)(Tx—1)—10(Tz - 1) Gs =422 =9+ (2z + 3)(x — 5)
Hy =2(6x —7) + (62 — 7)(xz + 3) Hs = (224 7)*+ 10z + 35
f(z) = =3zy + 10yz — 13yt L =-782-7)(-22-7)+5Bz—T)(z+ I5=2%—16+ (v +4)?
3)
g(z) = 3a%c — 15ab® + 21a%b%c Parcours 6
Parcours 2
h(z) = —T2%y + 35222 — 28xyz? Ag = 92% — bz
Ay = 6422 — 49 Bg =6x+9
i(x) = bayz — 10222 + 30yz By = 1622 — 40z + 25 Cs=x(x+5)+x(3z —2)
Cy =1+ 12t + 36 D¢ = (z+4)(x —6) + (—1+ z)(z — 6)
j(x) = 2a%b%c — 6bc? + 10abc® Dy =y% —81 E¢= 3z —1)—(3z—1)?
Ey = 9z% — 24z + 16 Fs = 2% + 8z + 16
k(z) = —5x%yz + 3bx2?% — 4022y222 Fy = 2% + 142 + 49 G = 4 — 22
Go = 100t* — 121 Hg = 92 — 302 + 25
I[(z) = 3a®be + 15a3b*d — 39abc Hy = 92% — 62 + 1 Is = 25 — 3622
I = 4922 — 422 + 9 Jo = (dz — 3)2 — 1
m(z) = (22+5)(3x—1)—(3z—7)(3z—1) Jo = 642> — 81
Parcours 7
n(x) = (=5x + 4)(—2x2 — 5) + (—=7z + Parcours 3
4)(—4x — 10) Ay = (2 +1)%2 — 4z +2)(2z + 1)
Az = (T +3)(3x — 2) + 3z — 2 B7f(:v 2)2 + (z — 2)(4z — 1)
o(z) = (22-3)(4x—7)—(3x—9)(—42+7) Bz =8z —5— (8 +1)(8z —5) = (5z — 3)? — z(5x — 3)
C3=30B8x—7)?2—-30+7 D7—(:L‘+1)( +3) — (x + 3)?
p(r) = (=32 — 7)(2x — 5) + 42% — 25 D3 =(6x—1)(7Tc —3)+7x—3 E7:5 +4)2 — Bz +1)(z+4)
E3=6z+1+ (6z+1)(z—5) =(x—-3)2r+1)-712x+1)?
glz) = (=bx —10)(3z — 5) + 2z + F3=Bx+2)(Te—1)—Tz+1 G’7 = (7Tx — 1) = 10(7z — 1)
4)(=3z —7) G3 =(@-3)2r+1)+2z+1 H; =2(6z —7) — 7(62 — 7)2
=@+4)(z—2)—z—4 I; = =5(22 — 5)2 — 7(2z — 5)(z + 3)

r(x) = (=32 — 9)(=3z + 7) + 5(z% — 9) 13 =3—-Tc— (x+4)(7Tx - 3)
Parcours 8
s(x) = (—2x+4)(=3x+7) + 5(x —2)? Parcours 4
Ag = (22 +1)(3z + 5) — (6z + 3)(2x +

t(x) =42% +42 + 1 A= (2z-1)(3z+5)+ 4z +2)(1—-2z) 1)—(-1-2z)?
Bi=(x—-2)(x+3)+(2—2)4r—-1) Bg=(z—-2)(x+3)—7(2%—4)—(-dz+
u(xr) = 92% — 62 + 1 C4 = (52 — 3)(2z — 5) — z(3 — 5x) 10)(=3z +7)
=(x+1)(z—3)—5B—x) Cs = (52 —3)(2x —5) — Tx(—15x+9) —
v(z) = 4922 — 25y E4 =@x-4)(z-2)+Bx+1)4—2) 7(3-5z)
Fi=(@x-3)2x—-1)4+1-22)3x—2) Ds = (z+ 1)(—6 — 2z2) — 5(x + 3) +
w(zr) = 22% — 4z + 2 Gy= (B2 +2)(Tz —1) —10(1 — Tz) 5(3x +9)2
Hy =26z —7)+ (7 —6z)(z + 3) Eg=—T(x+4)(x —2)+82%2—32—(4—
x(x) = —(z —3)% + (3x — 8)2 Ij=-7(-3z—-4)+ (-7—-62)(3x+4) 2x)(—x—-7
Ji=-5(-32-9)+3z(z+3)+(-7— Fz = —3(x —3)2zx + 1) + (4o + 2)? —
y(z) = (22 — 7)% — 25(z — 8)? 62)(2z + 6) 5(3z — 2)(—3 — 6z)

3
Ky, = =3(6x — 21) + 3z(—4x + 14) — Gg=(—3z+2)(Tx—1)—10(—-7x+1) —
2(x) = —16(x — 5)? + 36(3x — 2)?2 (=7 —6x)(—22+7) 3(—=Tx +1)?



